4-3 extra practice



1. Complete the proof

Given:  MK = OK


KJ  bisects <MKO

Prove:  JK bisects <MJO

   Statements                            Reasons

1.)  MK = OK


  1.)  _____________________

         KJ bisects <MKO

2.)  m<3 = m<4

   2.)  ____________________

4.)  JK = JK


   4.)  ____________________    

5.)  ▲MJK ( ▲OJK

   5.)  ____________________

6.)  m<1 = m<2

   6.)  ____________________

7.)  JK bisects <MJO

   7.)  ____________________

2.) Write the statements in a correct order for a proof

Given:  AD    BC;  AD = BC

Prove AB = CD

a.)  AD    BC

b.) AB = CD

c.)  ▲ABC ( ▲CDA

d.) AD = BC 

e.) AC = AC

f.) <1 = <2

Quick quiz

Given:  ▲DOG ( ▲ RAN

1.) What can you conclude about OG and its relationship to another specific segment?  Why?

2.) Name three pairs of congruent angles.

For exs. 3-5 decide whether the two triangles must be congruent.  If so write the congruence and name the postulate used.  If no, write no congruence.


3.)                                                              
4.)                  






      5.)  






Write a proof in two column form

Given   AE = BE


 DE = CE

Prove:  m<D = m<C


  


 3





 1





 M





 O





 C





    2





 4





   J





 K





 X





 B





 D





 A





      2





     1





 A





 B





 Y





   M





   30(





    60(





 F





 D





 C





 E





 V





 R





 T





 S





 A





 B





 C





   D





   E











